EEXE—E (FRA5E)

s - BFXIGE - TH - Hith - 54
hERE | INERA
i) A TH & =,
2R 1~4
1 6 18~24
7~12
TRET 5 1 34~49
2~6
3. 4
3 13~42
2 4
SEEFR 3
SEEFREg
= 4 1700—8B., 18~32, 330D>—&p
18515 4 —
3 15~17, 18—, 19~26. 27D —ED
4 11~22
4 8 11~23
SEEFAH] 9 8~17
10 7~18
16 70—ER. 14—, 15~32
5
=R =i 1~4
=iEry 6
1.3
=EER 3 5 1~7.9.68~76
EE . 11~13
=8 4 X4E 6B3~128%R<
= 6 X1BE1~78.41~515% K<
7
=iEry 5
BEiE S L3 2
=3 4
=21t =& 6 [3~12
5
6 1 [1~7.41~51
1.2
2.4
EEE =ER 3 5 8.10~67
6~10
4.5
R&EHA 1 7 [4>—8p. 1200—85.27~29
1.2
1~3, 5~7
172
P 3 8 70> —EB.8~33
4
EF0O 4.5
2.3
7 1~7.46~67
P LH] 1 =T
16.17
1 1~5
e i} 6 1~17.25~79
EEy 2 1 1~33.50~82
1.2
2
3 1~14, 18D—8B. 27>—#B. 28
4 1~10.23~26
SEEFAHT 4 5
6 9~22
7 8~26
8 1~10.24~27
EEF SIS 2 2~5
T i) 1~3
FhEEFeh T 2




EEXE—E (FRA5E)

BEXIGE - TH - &ith - 54
hERL | INERE
BT TH S =
TS L
2 1.6.7 |
1
HI 2 [XOBIE~145.168%R<
1 25~28
21 10—8. 16~21.2200—8P. 23, 240—1P
IEES 1 22 1~3.4D—EB.8~32
23
24 1~4,5D—%&B, 17>—%8, 18~23
25 1~5,20~28
SEEFCH]
EEF=HT 1.2
1
1~3
4 1.2.30—8&F.20~34
5 1.2.15~23
SEEFmfT 2 58
9 1.2.20~32
10
3
FHE | TH R L .
SEEF_EHT
15
2
3
1
6 1~8.23~26
7 1~7.27~30
FEFAH 4 9 1~7.18~20
10 1~6.19.20
11~15
16 1~6.700—8B.8~13, 1400—%5. 33,34
1 X9&E8S~175%= R <
1.2
2 3 1~12.43~45
TEER 511
4 1~3
4 1~16,170D—EB. 33D —HB. 34~41
1 6 1~3.16~25
hE=T 2 9 2.3.40—8B. 12~25
4
i 3 8 1~6.7D—EB
1 %255~285%7R<
2~20
1 21 10—, 2~15, 220>, 2400—%. 25, 26
IEERF 22 40D—8B.5~7
24 5DO—EB. 6~16. 17D—5B
25 6~19
2~4
s =2 —
bu% IES 11(HEFE)
Pt 6  [(MEEE)
16
17 11~18
JNESE 1 X*6FE1S5~35.168~258%Fk<
4 30— 4~19
SEEFE] 2 5 3~14
9 3~19
27t 2 9% 155%k%k<




EEXE—E (FRA5E)

— - BEEISE - TH - Bl - 5%
hERE | INFREE
ii] =4 TH S =
1~5
1~10
11XHEFEZR<
bﬂ% hnsEdt JIESS|d 6 12~14
15XHmEATZEKR<
17 1~10.19~28
7~9
INSEEEE 1~3
JIESE) 1~5
= 1~8
hnS<rEED ez 2 9 1.40>—8.5~11.26.27
I E ] 10~12
EEFER 1 9 8~17
3
hnER eSS 7 5~22
5~7
TR 2.3.5.7
T 1.2
3
TR 7 2.3
JIAEER 5
AL 6 1.2
7.8
1.2
NGBz ER /IR Z 1.4~6
6 3
T 1
1 1~9.11.12
mw:": IR 4 2
6 6~10
mmﬁ iRt 2.3
1 10
UNELE IVAR: 2 1
6 1~5
1 K7HEASD—ER. 128 D—88. 275 ~295 %k <
R&EHA EEHE 2~6
7 1
ESRE 1~4
==
= RS - 1.2
5@ RERRA 3 X10BE215~395. 11E40S~ 7755/ <
=11l 1.2.4
7 10 [21~39
)i EEERF 3 i1 [40~77
4
N 2 1~4
RIR RERRR 3 1~13
IS 3
1
BS EEEER 2 58
== 3 14
REM 2 4.5
EEAKR 3 1~4.7~15
20.21
1
g 2 1~3.6~13
. -+ = 3 5.6.16~19
REARAK REH -
ExgE 7 X 1&BEZPR<
- 8




